FRDM-KE02Z

I on ports 2?? (IRQ on PTAS5)

SPI-FUNCTION-[CS#]-BUS INTERRUPT-PORT ANALOG-MODULE-CHANNEL PWM-MODULE-CHANNEL UART-FUNCTION-BUS 12C-FUNCTION-BUS

PTA7 - 16

PTAO - 2
PTHO -4

pres - LX)
PTB3 - 5 Y. 5 AL

GND - 14°

VREFH - 16

T
T 7-PTF2
PT84 - 10— S L __A015, 9 - PTF7/ANAQ
PTB2- 1z L AC-14 11 - PTF6/ANA1
13 - P3V3_MOTOR
L _A0-2, 15 - PTA6/ANBO
(L AO3 17 - PTAT/ANBA

PTA2 - 18

FRDM

I on ports ??? (IRQ on PTAS5)

19 - PTB3/ANB2

PTB5 - sm

5 - PTF3

GND - 14

VREFH - 16

1
PTB3 -a 1 7-PTF2
PTB4 - 1o—m-—|2ll | ____A0-15 9 - PTF7/ANAO
PTB2 - 11 | __A0-14, 11 - PTF6/ANA1
13 - P3V3_MOTOR
[ __A0-2, 15 - PTA6/ANBO
| AO-3 17 - PTA7/ANB1

PTA2 - 18
PTA3 -20r

FRDM

I on ports 2?? (IRQ on PTAS5)

-KE04Z

The SPI on the Master A layout does not match the MOSI and MISO pins

J1

19 - PTB3/ANB2

PTBO - 2—1] 1-NC
PTBA - 4— ] 3-NC
NC -6 5-NC
prcs-——EZ3 A
PTB3 - 10— - A T {9 - PTB7
prCs - 12— mmm——ZX) [ VU1 - PTA2
PTB4 - 14— S 13-NC
NC - 16 T {2115 - PTB6
PTB2 - 2—EL S I = 1-NC
PTCO - 4 3-PTC1
[ SC0mm | P2-5 | 5-NC
PTB4 - & 7-NC
PT53-10 9-NC
P82 - 12— N R 11-NC

GND - 14

VREFH - 16

15 - PTA6/ANBO
17 - PTC2/ANB1
19 - PTC3/ANB2

13 - P3V3_MOTOR
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J10
PTH6 - 11 [ 12 - PTF6
PTH7 - T TSP R———10 - PTC3
PTC4-T | 8 - PTC2
PTGO -5 [ -PTC1
PTG2-3 - I - PTCO
PTG1 - 1 1 I A0-15, 2-PTF7
PTG3 - 15 . 16 - P5-9V_VIN
PTF0 - 13 T 14 - GND
PTF1-11 1 12 - GND
PTD2 - g— I I - 10 - PSV_USB
PTES - 7—EI K 8 - P3V3
PTE2 - 5— I R 6 - RESET
PTE1 - 3—{EIIx N - 4 - P3V3
PTEO - 1—EL S 2-NC
J9
J10
PTH6 - 11 T 12 - PTF6
PTHT -9 1 T VS —10 - PTC3
PTC4 -7 | 8 - PTC2
PTGO - 5 . -PTC1
PTG2-3 I T ———— - prco
PTG1 -1 [ Im 2 - PTF7
PTG3 - 15 . 16 - P5-9V_VIN
PTFO - 13 1 14 - GND
PTF1-11 [ 12 - GND
PTD2 - g—EE - 10 - P5V_USB
PTE3 - 7— I 8 - P3V3
R SMIE0 6 - RESET
PTE1 - 3— I 4 - P3V3
PTEO - 1— S 2-NC
J9
|
]
t
NC - 11 12 - SDA_PTD6
NC -9 10 - PTA7
NC -7 8 - PTAG
NC -5 6-NC
NC -3 1 A0-10 P2-2 B S
NC-1 m—z -PTC3
16 - P5-9V_VIN
14 - GND
12 - GND
10 - P5V_USB
8- P3V3
6 - RESET
(AR SVMO-0 | ___A0-7 P0.1, 4 - P3V3
PTB2 - 1— LS = 2-NC

J4



